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Ql

Q2

Q3

Q4

SECTION-1| HINDI KNOWLEDGE & WRITING ABILITY | 60 QUESTIONS

frforfaa & & @9 W o aoam T8 27
(A) g<

(B) I5

(C) uifig

(D) U®
ﬁwﬁf@aﬁﬁmﬁamw«zmﬂﬁ%;
(A) TS

(B) -Tlg®

(C) g%

(D) SuEE

frefefad 3 & @ ar v dga 78 87
(A) SUw
(B) wa
(C) SIuam

(D) war

ferferfas & & @ w1 s oW w8 27
(A) S

(B) @i®vr

(C) SasH

(D) Hior
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Q5 i ¥ faeRor sedarel Wl &7 HET SR 8-
(A) fremez

(B) &

(C) awdaR

(D) AR

Q6 O @M A T -
(A) TG
(B) 924
(C) 3T

(D) 3

Q7 forwd Uy W T 8-
(A) &
(B) faa
(€) afdw
(D) b=

Q8 T | P UK R & GAFRI 781 87
(A) el
(B) 3
(C) amay

(D) Ay
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Q9 T W PE—uT Weg HE' BT FHER TEl 22
(A) e
(B)
(C) #gg

(D) =T

Q10 ot wraras st @ i A ‘g B &, ST FRAT B 2

(A) gfesd

(B) wiferr
(D) SHaferT

QI gfead W & i W Wi & 31 A wrar Ry &1 @& wu e
(A) &I
(B) @il
(C) el

(D) el

Q12 ‘T I # B wr for &2
(A) gfeT
(B) wliferm
(C) sgaehfei

(D) Swafe
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ws & fore w0 | Wi &1 d &iar 8, 99 o a1 el gar 82
(A) gfeeim

(B) EAfeim

(C) AqaafeT

(D) wwafe

Ql4 Iria wifelr e &1 ggadd e & forg @ fbar sar 82
(A) 3= @R & qac A TN &
(B) 3=g ¥av @ A IR & oA &
(C) 3 WX & gaadl ¥ &% 0 B

(D) 30 WX & gac I BN o § |

Q15 $g wiE Hier &1 9gaqs ¥ T Y B 87
(A) 9T Wy yRafda & umar 21
(B) Suad wY # &% uReds & &er &1
(C) 4gaw+ i 9us famey &1 warT fhar simar 81

(D) S9® ara # T @ o |

Q16 f= % H o1 ggaw &

(A) B9
(B) &4 &M
(C) &9 44

(D) &9 @
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Q17 fr=faRed i & @\ |1 Hu Ayg 87

(A) BB & AEGAT D DHIRVT GBHT dgaad H 81 0 @ |

(B) &facaras anerid giee T dsisil & w9 agag- H 9 Iar @ |
(C) 3B a4l ggga+ vreal &1 yarr =) A yawaa 4 g 2

(D) gRar & gga== ¥ gRA wy g ¥

Q18 =RU-Hwa dd] sRUE |
39 HrA-UfRT § BT JABN 87
(A) SUAT

(B) ®U®

5734330

(C) ¥y

(D) SeuEm

Q19 dfer o1 Ry ®1 w3, g7 HIeh SOIRI | | Afvrarel BT &1 J@ Fai 431 g3 BN 9|
0 -l § DT AADN 87
(A) 9§
(B) ¥ou
() T

(D) sfderafaer

Q20 M | PF—H BT T TINE YTy FAN ¥ Hafe &7
(A) 99 gd U ¥ Bian 8 |
(B) &% U4 g wegm@rdl ein @ |
(C) 9% I SR UG W &Iar &

(D) 399 Jd UT Iy B 2|
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Q21

Q22

@)
N
)

forer e wes # gd ue 3R S ug Ao gR § ol 18 R U a8 8, 98 B

|l @9 & 27
(A) @gaIfe

(B) HHIRY

14014330

(C) g%

(D) gd<d

IAEY A BT A &7
(A) TYEy
(B) agdife
(C) FHYINY

(D) Iradrama

JeifRRT &1 98 WR-Rede
(A) a1 + Ifa

(B) Tom + & + faa

(C) To + Sfer

(D) Fe + 3nfea

fagamdl” &1 w8 Wi—fawdg -
(A) gz + wh
B) fagar + aef
(C) faga + e

(D) fagar + amef
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Q25

Q26

Q27

Q28

Tifda’ &1 wel Wy 8-
(A) 5 + R®

B) =1 + =

() 7 + 5@

(D) ¥ + 3Infa®

TAEN T el w8
(A) f@ + 3@ + &R

(B) @@ + &R

(C) & + TR

(D) & + d + BR

Ay &1 98 GR-fawm 8-

(A) WG + i+
(B) 91 + 99
(C) | + ATaE—

(D) ¥ + @Y™

el @1 v wR-fdwe -
(A) ¥Ed + HN

(B) werH + HM

(C) wer+ =M

(D) W&Y + =
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Q29

Q30

Q31

Q32

fread’ &1 wal Wy 8-
A) &+ ga
®) fey + =
(©) e + =

(D) & + ama

wgd @ wd WiR-fwme -
(A) WY + &

(B) 9g + 3

(C) ¥ + &

SL98¥PGI

(D) T + g5

frfafa # @ g ag &1 99 Hifog-
(A) Y 3N Fe= N TS |

(B) W& Terd i § BN B T |

(C) 39 FEF @ Ua & afger o fomar &

(D) ¥=} 51 THET 9T 37 7S |

frafafea d 9 g8 o &1 997 HIfdg-
(A) =T U Sarad] g |

(B) "SRl 3 79 waazal fagw @ qug )
(C) TH &1 gl =T 3R Wt & |

(D) d=1 AT fhde Waar 8|
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Q33 FrefRea 3 @ 1@ a9 & T BT
(A) ¥l FeR WigaT 9ga o+ |
(B) S e W HEW qed |
(C) &0 U3 sifefior ad €|
(D) ¥ == # grr W@ § |

Q34 fr=faftam 3 & yg T @1 w97 Hfg—
(A) 30T ¥ 8% U SR S & el
(B) "[EE ¥ VSl € TEE & |
(C) TE IS FEH TS A B | &
®) d sigR 81 ar &

Q35 fr=fefaa i & yg o &1 99+ HIfog—
(A) 9/ ST B 4T
(B) &fal TN XA Il Sl 8
(C) U | Tgel WA &4 Bl B
(D) U8 TR, Sia aGrl |

Q36 fr=fafad % § g& 9@ &1 =g Hifo-
(A) 799 @ TR ¥ e e SHET WA 91 g 2
(B) ar ot @ &
(C) §as N ga1 WRey & fy aresr g0l €|

(D) IR BE Y B U WY WHE G|
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Q37

Q38

Q39

Q40

iR, MR & T qEER B wE ol B
(A) 3 78 7 &1 A
(B) m%mﬁm‘mﬂq@ﬁaﬁté
(C) % BT )
(D) 9999 §W WE |

e 31 &S Ty BT B Suga awef 3

(A) " 9 g By

B) s sRRufY ¥ Suger w9a o @1 saor s
(C) Rufta & cvv™ &1 Srgerr W@

(D) 3N & q1g YT aVET BT TTAR B

T @1 @rer g BT IugTa aef &
(A) TEHIH ¥ BT AE A qTel

(B) ¥I9YET S8 Y& ara

(C) aga 3fore v arar

(D) ¥ BT gEF

Feal figr @ & Sugad aef 8-
(A) ERT AT @i a1

(B) @& HIM P Yh] BT

(C) g furm

(D) & &1 dear &4
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Q41

Q42

Q43

Q44

el 89T & Sugd e 8-
(A) 9RI 3R AF B4

(B) el 3R @1 51 W&

(C) & T e 2l

(D) Pac HU 2@

14448615

w3 Y WY BHE B A BT UG AHef B
(A) TH—GER | a9

(B) §& HaHd Bl

(C) 39 & Wk | AT

(D) g # g

‘"re e @1 g G e @1 Suga el 8-
(A) 3 &A1 & JgHd

(B) oftas # Rerar &1 W@

(C) T T WeHAl

(D) WuHR & forg 78t a8i gue

ol T & Adm 2
(A) 3

(B) wfdd

(C) wwd

(D) 3gE

P-KS-1 13
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Q45

Q47

Q48

W uE & fAam B
(A) @uq
(B) ©aH
(C) fawn

(D) =94

A A o e 8-
(A) Sgoid
(B) 3rciid
(C) fachs
(D) Well®

THE TR Bl fadm 8-
(A) faga
B) v
(C) wrd

(D) HHE

qEIT e @ faem 8-
(A) ITTD

(B) wAT®

(C) irar

(D) @&
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Q49

Q50

Q51

Q52

g’ e BT e 8-
(A) fasnfe

(B) 3o~

(C) uRfEs=

(D) g

freifaftad § & -1 v 9 &1 ygigarE) 7@ 87
(A) el )

(B)

(©) g

(D) amaf

5

1540861

frefafag & 9§ eF-— v ‘e & yaiarEl T8 87
(A) ¥ifer

®) A

() =

(D) =4

fr=fefaa % § F—wr W HY@' d1 gAfFarE) TE 87
(A) &
(B) e

(C) fgor
(D) wdior
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Q53 F=forfad # & -1 s wel &1 vafgard 78 &7
(A) fawr
(B) @
(C) weit
D) faen

Q54 f=falEs & § Fr—w1 v G &1 gafyarh T8 &7

(A) gfean
(B) @fRH

(C) o

14328615

(D) g

Q55 f=folRaa # & ®F—war e fier &1 yafaarr 82
(A) BT
(B) SRR
(C) ITHR

D) W

Q56 fr=fefaa # & #—wr v g’ @1 wakarE) T8 &
(A) @&
(B) @ad

(C) goi

(D) &=
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Q57

Q58

Q59

Q60

fr=fafaa ¥ § 19 W1 U= aam T 87
(A) s
(B) wdid
(C) wfmrE
(D) wfifa=

frfofaa # & @9 w1 o awa 87
(A) S
(B) Swawi
(C) Rwaw

(D) SvE

Prafafea § § &9 |1 & a7 87
(A) fober
®) e
©) ¥

(D) U

frefefag # & o9 w1 = d&g el 87
(A) &
(B) =R
(C) 3@
(D) @

P-KS-1 17
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Q61

Q62

SECTION-2 | GENERALAPTITUDE TEST | 30 QUESTIONS

A survey of 500 TV viewers produced the
following information.

285 viewers watch football games, 195
viewers watch hockey games, 115
viewers watch basketball game, 45
viewers watch football and basketball
games, 70 viewers watch football and
hockey games, 50 viewers watch hockey
and basketball games, and 50 viewers do
not watch any of three games. How many
viewers watch exactly one of the three
games?

(A) 440

(B) 365

(C) 205

(D) 325

In an airline, hot drinks and iced tea were
served to 120 passengers. 75 passengers
enjoyed hot drinks and 62 enjoyed iced
tea. If 40 enjoyed both, then how many
passengers enjoyed none of the
beverages?

(A) 15

(B) 12

) 23

(D) 25

P-KS-1

05212061
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Q61

Q62

af 2@ T 500 <%l @ g
wderor ¥ fr=forfaa e wa g9
285 q¥i® pedld @d aEd €, 195 adf@
g Qat 2@ € 115 i aracdld
WA TE &, 45 TP Heard AR FRaedic
T I 8, 70 S¥e gedia iR g
Wl 2@ 8, 50, 3 g 3R andbedia
Wd w2, 3R 50 g3fe @ dF i 9
g W T Twd ¥ e g A
et # ¥ 5l ve Qe &1 o S @
(A) 440

(B) 365

(C) 205

(D) 325

T TavergE ¥, 120 T @ gfe fFaw
3ie amgy & g Y | 75 AT A g
o &1 aFig form 3k 62 3 amgd &
&1 g forar | aft 40 3 A1 &1 e
foram, ot fsam a3 2 97 weRl 4 @

sl @1 o s e ferar?
(A) 15
(B) 12
(C) 23
(D) 25
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Q63

Qo4

Select the option that is related to the third
word in the same manner as the second word
is related to the first word.

STATUE: SIZE :: SONG : ?

(A) POETRY

(B) WORDS

(C) SINGER

(D) TUNE

A survey of 100 candidates with respect
to their choice of ice cream flavours -
vanilla, chocolate and strawberry-
produced the following information.

50 candidates like vanilla, 43 like
chocolate, 28 like strawberry, 13 like vanilla
and chocolate, 11 like chocolate and
strawberry, 12 like strawberry and vanilla,
and 5 like all the three flavours.

How many candidates like chocolate and
strawberry but not vanilla?
(A) 24

(B) 10

(C) 32

0GLL667L

(D) 6

P-KS-1
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Q63

Q64

99 e $T1 999 B G R e 9@
Ol W Haferd & for U g e
Bl ¥ | WaftwT & |

Ui : HR = AT ?

(A) faar

(B) 1=

(C) THH

(D) g

100 saffal & wderor | IngwHA
Yeav—afel, didmere 3R I B !
g & wau # Frafafaa st ura
CARER

50 apfefdt 3 e g Y, 43 F diwcic
uHE @), 28 7 Wi wHg @, 13 7,
afver sl didae @ wg fan, 11
didcie MR I gHg I, 12 7 Hiad
3 afer @1 uwe R afw 5 7 Wi
AT voaw T Y | O fase apaed §
e didee R Wi o g @
o afem @ uwe TE fFar

(A) 24

(B) 10

(C) 32

(D) 6
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Q65 Inacertain language, WOMEN is written

Q66

Q67

as OWMNE. How will NOTES be
written as in that code language?

(A) TONES

(B) SETNO

(C) ONTSE

(D) ONETS

In a certain code language, SKEW is
written as POCY. Which word will be
written as JYQV as in that code language?
(A) JUST

(B) MUST

(C) LUST

(D) HUSK

In a certain code language, MOBILITY
is coded as 46293927. How will
EXAMINATION be coded as in that
code language?

(A) 27159415955

(B) 67038401834

(C) 56149512965

(D) 12250623034

P-K5-1
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Q65

Q66

Q67

fdl s fftem wmm % WOMEN &
OWMNE & %9 ¥ formr mar &1 s
IS 9T § NOTES @ f5w war faran
ST

(A) TONES

(B) SETNO

(C) ONTSE

(D) ONETS

et fAf¥ar @re W § SKEW @1 POCY
@ w9 4 forar wam 8 ) S P W
JYQV & 3y P—ar e forar smar?
(A) JUST

(B) MUST

(C) LUST

(D) HUSK

fét FAfea w1 W # MOBILITY &
46293927 & wu ¥ gewita fFar wn
g1 SHl FIs HWMT B ALHY
EXAMINATION & &9 aeia famar
SITQI?

(A) 27159415955

(B) 67038401834

(C) 56149512965

(D) 12250623034
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Q68

Q69

Q70

In a certain code language, GRASP is
written as INOPQ and BROWN s
written as RNSTU. How will SPARROW
be written as in that code language?

(A) RSQGGSU

(B) QQONMOT

(C) PPONNSU

(D) PQONNST

In a certain code language, ‘1 2 3" means
‘hot filtered coffee’, ‘3 5 6’ means ‘very
hot day’ and 5 89" means ‘day and night’.
How will ‘very’ be coded as in that code
language?

(A) 6

(B) 7

©) 1

(D) 2

Select the word that can be formed using
the letters of the given word only as many
times as the letters have been used in the
word.

AUDEFGRSA

(A) PSEUDO-GRADE

(B) SAFEGUARD

(C) STAGNATION

(D) GRANDSON

P-KS-1

14751750

21

Q68

Q69

Q70

e AfYea d1e wmor 4, GRASP &
INOPQ 3R BROWN &I RNSTU & &Y
¥ forear 4 & | SPARROW & S9! #18
wrer % frw R forar sem?

(A) RSQGGSU

(B) QQONMOT

(C) PPONNSU

(D) PQONNST

et Prf¥ea o W %, 41230 &1 9
¢ gfe fpeed BieY, 356" o1 aed &
AW e AR 589 i g TG
Ee’ | o e A ¥ W B A
Hfa far smgm?

(A) 6

(B) 7

©) 1

(D) 2

I vE P 5aA o, o faw Ry e
T B JE B STEN IaN AR D
g o g §? e IR 39 v |
FERY HT IUAT §IN B

AUDEFGRSA

(A) PSEUDO-GRADE

(B) SAFEGUARD

(C) STAGNATION

(D) GRANDSON
SERIES-AH



Q71

Q72

Q73

P-KS-1

Ifthe word NUPKIPM is unscrambled,
then the name of a fruit/vegetable is
formed. What is the last letter of the word
so formed?

(A) K

(B) U

(C) N

D)y M

Each of the letters below has been
assigned a unique number. Select the
combination of numbers such that the
corresponding letters when arranged
accordingly will form a meaningful word.
CELSMU

345678

(A) 7,4,5,3,8,6

(B) 6,8,7,4,5,3

(C) 6,8,5,7,4,3

(D) 7,8,6,3,5,4

Form a meaningful word with the first,
fourth, seventh and eleventh letters of the
word ‘SUPERFLUOUS’. What is the
first letter of that word?

(A) U

(B) L

© P

(D) R

22

Q71 If§ NUPKIPM & &1 ersiaT SiraT &,

Q72

15031750

o f5eft wer /waal &t A g & | s
g o1 3ifom s &7

(A) K

(B) U

(C) N

(D) M

e R ¢ e AR @ g 1@ srhRdn
He fAfde it 718 @ | wemit @ wanE
B 9T FH YHR B fh Iwy quil &
aqaferd fabar sy, oY TeTER U anf@
e q WY |

CELSMU

345678

(A) 7,4,5,3,8,6

(B) 6,8,7,4,5,3

(C) 6,8,5,7,4,3

(D) 7,8,6,3,5,4

‘SUPERFLUOUS’ ¥ & gal, 9] Wi
3R UREd SRl W Uh ueRie vE—y
qIY | S YR BT USAAT IR 4T 87
(A) U

(B) L

(C) P

(D) R
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Q74 Select the second, fifth, tenth and twelfth

Q75

letters of the word ‘“METROPOLITAN’
to form meaningful word(s).

If only one word can be formed, then
select the third letter of that word as the
answer. If more than one word can be
formed, then select M as the answer. If no
such word can be formed, then select X
as the answer.

(A) O

(B) P

(C)M

(D) X

Select the number that can replace the (?)
in the following series.

22,33, 66, 88, ?

(A) 84

(B) 97

(C) 115

(D) 165

P-KS-1

15111750
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Q74

Q75

wrefs g4 @ fav
‘METROPOLITAN’ &8 & q¥R, Uf=d,
Tud 3R avEd Rl &1 99T B |

af Had UF I 99 T 2, df Ian

UWeg

D WY H O R B AR HER BT 9T
| ok @ ¥ 3R v 7 W € @
TR @ w9 A M @ g | Al G e
& TE 49 W 8, A o » w9 A X
g |
(A) O
(B) P
(C)M
D) X

PrfoiRa sia # (7) 2t orTE SfReia
B W@ aTel WA B 9T BN |

22, 33, 66, 88, ?

(A) 84

(B) 97

(©) 115

(D) 165
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Q76 Select the number that can replace the (?)
in the following series.
2,20,74,110, ?
(A) 152
(B) 182
(C) 190
(D) 210

Q77 Select the number that can replace the (7)
in the following series.
2,7,14,23,7,47
(A) 21
(B) 38
(C) 34
(D) 28

Q78 Select the letter-cluster that can replace the
(?) in the following series.
KPA,LQB,MRC,NSD,?

(A) OTE
(B) PER
(C)LTQ
(D) MOL

P-KS-1
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Bl Wb qTeN HEAT BT U B
2,20, 74, 110, ?

(A) 152

(B) 182
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Feferfaa s i (2) & srre sfenfa
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2,7,14,23,7,47

(A) 21

(B) 38

(C) 34
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(A) OTE
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Q79 Four numbers have been given, out of

Q80

which three are alike in some manner and
one is different. Select the number that is
different from the rest.
720,120,24,8,2,1, 1

(A) 24

(B) 8

(C) 2

(D) 120

Read the given statement and conclusions
carefully and decide which of the
conclusions logically follow(s) from the

statement.

14671750

Statement:

The National Skill Development
Committee conducted an assessment
among their trainers and found the

performance below mandatory level.

Conclusions:

I.  The committee should immediately
organise remedial courses and training
to improve standards.

II.  The committee should terminate poor
performers and hire new trainers.

(A) Only conclusion I follows.

(B) Only conclusion II follows.

(C) Both conclusions I and II follow.,

(D) Eitherconclusion I or Il follows.
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720, 120,24, 8,2, 1, 1

(A) 24

(B) 8

(©) 2

(D) 120

fRe 17 oM 3k st & o 9 e
IR 77 W % 99 T | B a7 e
aifr® WU 9§ 4d @ & /@ #

CoCEH

N B R ARy 7 o uRwet
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MY GRS WIGUsHH AN yiderr
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(C) Fr=pd 13 11 HT Aer @y &

(D) a1 o fFrepd 131 11 9 @ 2
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Q81 Read the given paragraph carefully and

decide which of the conclusions given in the
options logically follows from the
paragraph.
Alarming level of pesticide and insecticide
residue is found in fruits and vegetables sold
in the market, causing public unrest. The
reason is farmers being forced to use
affordable chemical pesticides in large
amount to protect the harvest.
The pests, after sometime, get immune to
chemicals and hence farmers are forced to
use more harmful chemicals to exterminate
them. The government, is however, planning
to ban the use of some harmful chemicals
as they cause health issue, thus breaking
this vicious circle.

(A) Herbicides should be used by farmers
to prevent such health hazards and
portect the crop at same time.

(B) The farmers have been relying too
much on the chemiclas, long enough
for the pests to evolve and develop
resistance towards them.

(C) The goverment is going to ban all
chemical insecticides and pesticides
and their use in any form.

(D) The farmers are planning to protest

against the banning of chemical

pesticides.

P-KS-1
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fag 1y uikede @ e A v 3R qa &
& faeeui # & o W fFrepd 9w uRes
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Q82 Read the given statement and conclusions

carefully and decide which of the
conclusions logically follow(s) from the

statement.

Statement:
A police officer receives a complaint that
an MP of his district is taking bribes in

order to facilitate some work.

Conclusions:

L. The police officer should try to
investigate the matter and catch the
MP red-handed.

II.  The police officer should wait for
some more complaints and then
catch the MP red-handed.

(A) Only conclusion I follows.

(B) Only conclusion II follows.

(C) Both conclusions I and I1 follow.

(D) Neither conclusion I nor 11 follows.
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AR e &% 5 &9 W fred o
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Y
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Q83 Read the given paragraph carefully and

answer the following question.
Soil erosion is a naturally occurring
process that affects all land forms. It refers
to the wearing away of a field’s topsoil by
natural physical forces of water and wind.
Topsoil, which is high in organic matter,
fertility and soil life, majorly contributes
to the growth of crops. Soil erosion reduces
cropland productivity and causes the
pollution of watercourses, weltlands and
lakes.

Which of the following options does NOT

show steps taken to prevent soil erosion?

(A) Use of proper drainage canals.

(B) Using of contour sloughing.

(C) Soil erosion is a result of mankind’s
unwise actions such as overgrazing
or unsuitable cultivating practices.

(D) Planting provides a protective cover
on land, and this allows most of the

rain water to soak into the groung

P-KS-1
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fifarRae weT &1 SarR 9|
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Q84 Read the given paragraph carefully and

decide which of the conclusions given in
the options logivally follows from the
paragraph.
Ina TV show, a famous nutritionist said
that among different items offered for
breakfast, muesli has more nutritional
value than regular cereals. He also said
that oatmeal is healtheir than bread. Buta
recent commercial of a cereal company
says that cereals like cornflakes are richer
in nutrition than plain muesli. The
consumers are posting severe criticism on
social media and on the company website
about the misinformation in the
advertisement.

(A) The nutritionist has deliberately made
that comment to generate negative
sentiments against the cereal
company.

(B) The nutritionist has high credibility
and people believe his/her words
against that of the famous cereal
company.

(C) The cereal company had done the
advertisement based on an outdated
research and the misinformation was
unintentional,

(D) Social media sites are increasingly
becoming popular among customers

as complaint portals.
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Q85

Q86

Five colours have been given, out of which
four are alike in some manner and one is
different.

Select the odd one.

Green, Indigo, Pink, Orange, Yellow

(A) Orange

(B) Pink

(C) Green

(D) Yellow

Five subjects have been given, out of which
four are alike in some manner and one is
different.

Select the odd one

Physics, Chemistry, Geography, Botany,
Zoology

(A) Botany

(B) Chemistry

(C) Physics

(D) Geography

P-KS-1
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Q87 Five words have been given, out of which

Q88

four are alike in some manner and one is
different.

Select the odd one.

Canoe, Dinghy, Igloo, Raft, Yacht

(A) Raft

(B) Igloo

(C) Canoe

(D) Dinghy

Five words have been given, out of which
four are alike in some manner and one is
different.

Select the odd one.

Cliffs, Lapies, Stalactites, Sinkholes,
Stalagmites

(A) Stalactites

(B) Stalagmites

(C) Lapies

(D) Cliffs

P-KS-1
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Q89 Five words have been given, out of which

Q90

four are alike in some manner and one is
different.

Select the odd one.

Semicircle, Semicolon, Semifinal, Seminar,
Semitone

(A) Semitone

(B) Semicircle

(C) Seminar

(D) Semicolon

A travel agent surveyed 100 people to find
out how many of them had visited the cities
of Mumbai and Bangalore. 31 people had
visited Mumbai, 26 people had visited
Bangalore, and 12 poeple had visited both
cities. Find the number of people who had
visited neither Mumbai nor Bangalore.
(A) 12

(B) 55

(©) 19

(D) 45
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(B) g
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(A) 12

(B) 55
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SECTION-3 | GENERAL KNOWLEDGE |40 QUESTIONS

Q91 Which state in India has a city nearest to Q91
the Tropic of Cancer in India?

(A) Mizoram

14368615

(B) Madhya Pradesh

(C) Tripura
(D) Chhattisgarh

Q92 Identify the neighbouring nation with which Q92
India shares the longest boundary.
(A) Nepal
(B) China
(C) Myanmar
(D) Bangladesh

Q93 The Indian peninsular extends in to the Q93

(A) Arabian Sea
(B) Indian Ocean
(C) Himalayas
(D) Bay of Bengal

Q94 Which of the following is the world’s Q94
largest gorge?
(A) Copper Canyon
(B) Colca Canyon
(C) Fish River Canyon
(D) The Grand Canyon
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Q95

Q96

Q97

Q98

Which of the following is the world’s
largest river island?

(A) Divar Island - Goa

(B) Quibble Island - Tamil Nadu

(C) Munroe Island - Kerala

(D) Majuli-Assam

_____ thecalligrapher of the Taj Mahal,
built and completed it in 1648 A.D.

(A) Gyasuddin

(B) Al-Bukhaari

(C) Amanat Khan Shirazi

(D) Muhammad Abduh

The freedom fighters Bhagat Singh,
Sukhdev and Rajguru were hanged to
death in

(A) 1929

(B) 1931

(C) 1934

(D) 1939

In , the British Government
announced certain reforms in the structure
of the Government in India, which were
known as the Morley-Minto Reforms.
(A) 1903

(B) 1909

(C) 1912

(D) 1939
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Q99 Udyog Bandhu is an IS/ISO 9001:2008

certified

__tier body of the
Government of Uttar Pradesh for the
purpose of setting up of businesses in the
state and covers all industrial approvals.
(A) one
(B) two
(C) three

(D) four

Q100 Uttar Pradesh ranks
software exports from India.
(A) first
(B) second
(C) third

(D) fourth

Q101 Uttar Pradeshranked _interms of
domestic tourists visiting the state in the
year 2018.
(A) first
(B) second
(C) third

(D) fourth
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Q102 The city of in the state of Uttar

Pradesh is famous for brassware
manufacturing.

(A) Saharanpur

(B) Moradabad

(C) Agra

(D) Lucknow

Q103 In which year was the Banaras Hindu

University established?
(A) 1902
(B) 1910
(C) 1916
(D) 1921

Q104 Which of the following was the most literate

district of Uttar Pradesh as per the Census
of 20117

(A) Ghaziabad

(B) Kanpur Nagar

(C) Lucknow

(D) Jaunpur
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Q102 SwR Yay ey ¥ e} Wiad &

qd+ 3R sy @ fow ufeg &1
(A) FERTYR

(B) Hur€mEE
(C) s

(D) ¥@T%
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(A) miramErg
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Q105 Which district in Uttar Pradesh had the g Q105 SaR w3 & v forer F af 2018 & farg

highest per capita GDP for the year 2018? 3
(A) Meerut

(B) Lucknow

(C) Gautam Budha Nagar

(D) Prayagraj (Allahabad)

Q106 Which of the following is the national
flower of Uttar Pradesh?
(A) Brahma Kamal
(B) Kandhal
(C) Rhododendrons

(D) Palash

Q107 Pradhan Mantri Kisan Samman Nidhi
(PM-KISAN) was launched in the year
2019 from ___ in Uttar Pradesh.
(A) Lucknow
(B) Gorakhpur
(C) Prayagraj (Allahabad)

(D) Varanasi
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Q108 ‘Dum Pukht’ is a popular process of
in Uttar Pradesh.
(A) preparing food
(B) stitching cloth
(C) sowing seeds

(D) carving wood

Q109 Which of the following is the ceremonial
tradition of laying the food items during
meals?

(A) Zardozi
(B) Chikankari
(C) Dastarkhwan

1988EG1

(D) Kharija

Q110 Which city in Uttar Pradesh is called the
‘ceramic city’?
(A) Lucknow
(B) Moradabad
(C) Prayagraj (Allahabad)
(D) Khurja

, a small town in Uttar Pradesh,

Ql11
is known for its decorative red clay
pottery.

(A) Bareilly
(B) Meerut
(C) Chunar
(D) Firozabad
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Q112 What is the other name of ‘Lucknow
Gharana’ - a style of dance and music?
(A) Uttar Gharana
(B) Nritya Gharana
(C) Yogya Gharana
(D) Purab Gharana

in coffee

QI113 India ranked
production in the year 2017-2018.
(A) second
(B) fifih
(C) seventh

(D) ninth

Q114 Which country among the following is the
largest importer of Indian tea?
(A) USA
(B) Russia
(C) France

(D) Germany
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Q115 The first jute mill was established at Rishra,

on the river Hooghly near Kolkata in the g

[

year

(A) 1847
(B) 1855
(C) 1889
(D) 1900

Q116 Which of the following is regarded as
Asia’s largest spice market?
(A) Khari baoli - New Delhi
(B) Bapu bazaar.- Jaipur
(C) Lal darwaja market - Ahmedabad

(D) Koyambedu market - Chennai

Q117 Which of the following companies is the
title sponsor for India’s cricket team?
(A) Sahara
(B) Vodoafone
(C) Reliance

(D) Paytm

Q118 In which ofthe following countries was the
*World Police and Fire Games’ 2019 held?
(A) Russia
(B) China
(C) Denmark
(D) Israel
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Q119 Which of the following movies won the
66th National Award in 20197

(A) Hellaro

14054330

(B) Uri: The surgical strike
(C) Andhadhun

(D) Sarala Virala

Q120 When was the autumn equinox 2019?
(A) 23rd September
(B) 29th September
(C) 16th October

(D) 26th October

Q121 Who among the following has been
awarded the Vir Chakra in 2019?
(A) Col. Lalit Rai
(B) Havildar Chuni Lal
(C) Wg.Cdr. Abhinandan Varthaman

(D) Lt. Col. Yogesh Kumar Joshi

Q122 India ranks __ in the Global
Innovation Index 2019.
(A) 47th
(B) 52nd
(C) 59th

(D) 63rd
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Q119 F=falas & & fsw fvew 3 2019 #
6641 WY YWRHR SHAT?
(A) feam
B) 3% R wifea wrs

(C) My
(D) avar faven

Q120 svEy faga (Wa—fRs avmew) 2019 #
@y
(A) 23 faay
(B) 29 fodaw
(C) 16 3aEax
(D) 26 AN

Q121 2019 ¥, F=foiad # & 59 4R 9% |
wea fsar war 27
(A) Fa aferd WY
(B) TA@ER gl I
(€) i Fwier aifFgs g
(D) Aftesfe e Ay FaR SRl

Q122 TdlEd gAde gea 2019 # ¥Ra
R W R
(A) 474
B) 52¢
(C) 59¢
(D) 63d
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Q123 India ranks number

_____inthelist
of countries (and dependencies) by
population.

(A) one

(B) two

(C) three

(D) four

Q124 Which city of India ranked first in the

‘Swachh Survekshan National Ranking’
2019?

(A) Bhopal

(B) Jamshedpur
(C) Indore

(D) Khargone

Q125 The Goods and Services Tax (GST) was

330

15814

Q123 T & IR IX g9t (3R fFeivaei)

gH AT B NE R
(A) TP
B) A
(©) @

(D) IR

Q124 9RT & 5y wey A e [I&Ior 9

BT 2019 3 ugar ©F wrd faar
(A) HraTe

(B) SPRITYY

(C) &R

(D) @I

Q125 I% Ta War B (GST) WRa ¥ | T,

introduced in India on 1st July, &1 vy Ay mar o)
(A) 2014 (A) 2014
(B) 2016 (B) 2016
(C) 2017 (C) 2017
(D) 2018 D) 2018
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Q126 The special power of the Rajya Sabha to

empower the Parliament to make laws in
respect of any matter enumerated in the
State List by adopting a resolution to this
effectisgiveninArticle_ ofthe
constitution.

(A) 128

(B) 198

(C) 223

(D) 249

Q127 Department-related Standing Committees

were set up in to scrutinise the
functioning of the various Ministries/
Departments of the Union Government
assigned to them in order to further
strengthen the accountability of the
Government to Parliament.

(A) 1991

(B) 1993

(C) 1999

(D) 2000

P-KS-1
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Q126 W5y wa1 &1 favy wofed 39 s &1

YHIG J9FTHY Wfaes & =T
. ifemmm d 5 9w vy
A i R o e & waw
S |

(A) 128

(B) 198

(C) 223

(D) 249

Q127 Bg R & A= st/ vt &

& B Sifa S @ fog e & waft
wfwfft e F
g o AifP WHg D WY ERHR B SaEes
&1 3R worga far o W@ |
(A) 1991
(B) 1993
(C) 1999
(D) 2000
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Q128 How many states with Fifth Schedule Areas

are covered under the Provisions of the
Panchayats (Extension to the Scheduled
Areas) Act, 19967

(A) 7

(B) 9

(C) 10

(D) 13

Q129 Under the provisions of Article

a joint sitting of the Lok Sabha and the

Rajya Sabha can be called by the
President.

(A) 93

(B) 105

(C) 108

(D) 116

Q130 Inthe event of a tie while voting in the Lok

Sabha, the has the casting vote.
(A) Prime Minister

(B) Speaker

(C) President

(D) Vice President

P-KS-1
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Q128 uied argygal &3 (fhuer frgge vRan)

o favga) & el afa=am, 1996 @
e A 87

(A) 7

(B) 9

(C) 10

(D) 13

Q129 aFfee _ P GIERTE] & dad Sae

IR ISGHAT A HYRT 98F DY Ul

QAIRT GeITdT ST bl Bl

(A) 93
(B) 105
(C) 108

(D) 116

Q130 AFwd WA B W T B

Rafdd, @ o™ dic Sio &1
IEBR e €|

(A) 9EF A

(B) Hiaw

(C) wszuf

(D) SRTSLIfY
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ROUGH WORK /v% &1t & fer

4% % *7A 2
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Read the following Instructions carefully :

frafefaa Adet &t sarsr 9@ 92 -

L. Out of the four allernatives for each question, only
one circle for the correct answer is to be darkened
completely with Black Ball Point Pen on the OMR
Answer Sheet, The answer once marked is not liable
to be changed

2. The candidates should ensure that the Answer Sheet
is not folded. Do not make any stray marks on the
Answer Sheet. Do not write your Roll No. anywhere
else except in the specified space in the Answer Sheet.

3. Handle the Test Booklet and Answer Sheet with care,
as under no circumstances (except for discrepancy in
Test Booklet), another set will be provided.

4. The candidates will write the correct Test Booklet
Series as given in the Test Booklet in the Attendance
Sheet,

5. Each candidate must show on demand his / her Admit
Card to the Invigilator

6. Nocandidate, without special permission of'the Center
Superintendent or Invigilator, should leave his / her
seat.

7. The candidates should not leave the Examination Hall
without handing over their Answer Sheet to the
Invigilator on duty. Cases where a candidate has not
signed on the Attendance Sheet will be deemed not to
have handed over the Answer Sheet and dealt with as
an unfair means case.

8. Use of Pencil/Electronic/Manual Calculator is
prohibited.

9. The candidates are governed by all Rules and
Regulations of the Commission with regard to their
conduct in the Examination Hall. All cases of unfair
means will be dealt with as per Rules and

, Regulations of the Commission.

10. After Examination is over, candidate has to return his
Answer Sheet o invigilator, Invigilator will hand over
the Candidate’s copy to candidate, then only
candidate is allowed to leave the examination hall.
Candidate is only allowed to take Candidate’s copy of
answer sheet.

11. Candidates are not allowed to take Test Booklet with
them. They have to submit the Test Booklet to the
Invigilator after the exam.

RECrB0v

h

. Yl g & fae {1 aw e § 9§

el 9T @ fav 3l U e 9T Uge W
DA U Tl B B YA T el a1 Gige
U A W | U AN ST Sifdhd b 9 B

a8 I 4T Al O Hehdl § |
el gifteaa s & IR v=E 3 A
q WY U9 99 W BIE 31 Frem = oo |

afierreff o sgEHie WOR yAe #
fraifa W & afoRew sra= 7 ol

. T YRGS Ud SR YIS B AFYED

A &R, w@ife fE @ oRRufy 3§ @aa
e gRadT § FA B Bie B) T g
yRaaT U@ SR 9IS SyGE el Hdl
SITGAT |

wien yRasr A 4 T g gitaer S8
& gamff v afe | SuRufy vse 3
ford |

UB 9N W Ydd g, @ awried &
9T Ay v feam |

yefleren A1 He1 IS @1 9w iy B
famr g wdiemedt argEr I | B

HRRA B JNGD BI AT IR IS 30
far el s wie wE B afl
e oemedt - SufRerfdy y=a oy swer w8
fpy o a8 F=T ST @ SER ST UAE
T8 e @ iR g8 i wrE o e
HIAT TG |

UfRea / goagiie / exaaiferd uRaes @
Suyanr afdfa &1

THET BT A ArERYr & fa wdemest s @
il Pt va fafeEt grr Fafe 2 1 sefa
AT D W WSl BT DA AT B
et w@ fRfE @ sgar g

10. 998 B IUNA 3nell IR UAD B JED

Bl dier 3| sFaders gRT angel B 9T
v o apaefl ufdy /g wfty svaea o
St e R Suva # 3E 31 B @
gty Q et | SR uEe ot anaedi ufy
apell Y o9 Wl & o @ el )

1.90@r @ suvia gderefl st ghar gRas

w&l A=Es &1 dter gl | e gRasr
o gdeardl s w4 d A on wed &)

P-KS-1

48

SERIES-AH




